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Question Number : 1 Question Id : 99836739425 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& 5e11e5 15 givern with ore terml mussing. select the correct alternative from the givern ones that will complate the

SETIES.

T1lg, Wiz, Z8, 7, FO
Options:

1. % C2

2. ¥4

2 % D6

4 % D4

Question Number : 1 Question Id : 99836739425 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

U SR R T §, e & U v e 81 Ry g et # & 9 wel e g, S Srgwe i
T16, W1z, 28, 7, FO

Options:

1. % C2

= ¥ C4q

2% D6

4 % D4

Question Number : 2 Question Id : 99836739426 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& Series 15 given with one term wrong. select that wrorg term from the given alternatives,

FEL, JUH, NXD, RAY, ¥DV
Options:

1. % MNED

2. % JUH

3. ¥ RAY

4. % VDY

Question Number : 2 Question Id : 99836739426 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T S e T g, e & U ug e 31 Tew my fdwedt § & 39 e ug @ g

FEL, JUH, NXD, RAY, ¥DV



Options:

1. % NHD
= % JUH
3.V RAY
4. % YDV

Question Number : 3 Question Id : 99836739427 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following questiorn, select the odd word pair from the given alternatives.

Options:

1. ¥ Table - Furniture
2. % Pen - Write

2. # Rubber - Erase
4. % Gun - Kill

Question Number : 3 Question Id : 99836739427 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TraferfaT wa # fo  Foereat # & foow seg g @1 giam
Options:

1. ¢ O - BT

2 % Faw - o

3 % gz - e

4. ® Fg@ - AR

Question Number : 4 Question Id : 99836739428 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the fOllOWiﬂg qQuestion, select the related letters from the given alternatives.

GL:EF - R]: 7
Options:

1. ® ME

= % NE

3. % ND

4. ¥ MD

Question Number : 4 Question Id : 99836739428 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T v | o my Hwedt o & deted srert w1 g
GL:EF - R]: 7

Options:

1. % ME

2 % NE

3. % ND

4 ¥ MD



Question Number : 5 Question Id : 99836739429 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the related word pair from the given alternatives.

Indocr - Chess 0 7

Options:

1. % Outdoor : Ludo

2. ® Indoor : Cricket

2. ¥ Indoor : Table Tennis
4. # Skating : Indoor

Question Number : 5 Question Id : 99836739429 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Trafere wa | o oy ferpet # & Heildd g g @1 g

TrEI A 7
Options:

1. % amaear: el
= R eEr: T

3 ¥ TEN: d o
4 % TR e

Question Number : 6 Question Id : 99836739430 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In a certain code language, ‘GABLIER’ is written as ‘QDHKAZF . What is the code for ‘TOMPAL’ in that code
language?

Options:

1. % K¥YQLNS
2. ¥ KZOLNS
3. % AFOLNS

4. % KZOLMS

Question Number : 6 Question Id : 99836739430 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
U Tafe #E ymr # ‘GABLIER’ #1 ‘QDHKAZF o 9|1 81 59 ®ig AT # TOMPAL' &1 ®1E F47 27

Options:

1. % KYOLMNS
= W KZOLNS
3. % AFZOLNS
4. % KEOLMS

Question Number : 7 Question Id : 99836739431 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Fisthe son of H. T is the sister of L and E. K is the son of L. How is K related to HY



Options:

1. % Son

2. % lncle

2. % Husband
4. % Grandson

Question Number : 7 Question Id : 99836739431 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

R, HTIUFaI T, L TR & agd 8 K, L #1381 K, H ¥ 750 Ue ™ Galed 87
Options:

1% qF

2. % gEr

z ® Of

4 giar

Question Number : 8 Question Id : 99836739432 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Simarticles G, H, L, M, K and T are kept one abowve the other. There are three articles betweenn H and M. L 15 not
at the top. H is below M. M is not at the top. There are three articles between R and G. T is above G, Which of
the following can be correct?

I. G is at bottom
II. L is third from top

Options:

1. % Only I is correct

2. % Cnly 11 15 correct

2. % Both I and II is correct

4. % Neither [ nor II is correct

Question Number : 8 Question Id : 99836739432 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
g gl G, H, L, M, R 99T T @ e o FUT ek T&1 74T g1 H T M 3% T f 9 oequ 21 L &ad S8 g1 81 H, M & i 81 M
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I G A A8
II.L S & dmer

Options:

1. % Faal |agr g

o o Al |R e

3 % ] FATIl SAT ARl 8
4 % FFIAGITBIG

Question Number : 9 Question Id : 99836739433 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Eight girls &4, B, ], K, P, R, L and T are sitting around a circular table facing towards the centre (not necessarily
in the same order). | is sitting opposite to P. Either & or E is the immediate neighbour of K. T and L are the
irnmediate neighbours. | is second to the right of K. Either T or L is towards the immediate right of ] If & isto
the immediate left of F and L is to the immediate left of 4, then which of the following statement can be correct
about B?

Options:

1. * Ris between K and B

2 ¥ ]is to the immediate right of R
2. % Kissecond to theright of B

4 % R isopposite to L

Question Number : 9 Question Id : 99836739433 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A& A A, B, K, F, R, L T g &l 31T T8 Fdr U gl ¥ B o 5g - TTi0, o6 1 58 & (Aedl A5l #ISaT @A T g0 J, F
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Options:

1. ¥ R ETMEFTmaAE

2 ¥ | R ¥ T g AW g

S % K R &I AR gE WM g
4 ¥ R LEfEmEs

Question Number : 10 Question Id : 99836739434 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question below are given some staternents followed by some conclusions based on those
staternents. Taking the given statements to be true even if they seern to be at variance from conmrmonly knowrn
facts. Read all the conclusions and then decide which of the given conclusion logically follows the given
Staternents.

Staternents:
I. Mo g 15 smiall.
II. Some srrall are red.

CONClusIonSs:
[ Mored 15 g
II. Sorme big are not srrall.

Options:

1. % Cnly conclusion I follows

Z ¥ COnly conclusion 1T follows

2. % Both conclusion I and IT follows

4. % MNeither conclusion follows

Question Number : 10 Question Id : 99836739434 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. % et Tmepy I SIeo #7aT &
2. e Toea 11 SIe FaT g
3. % gl Tmey | J9TI SgE 3T B

4 % i ot e srgev A5l awar g

Question Number : 11 Question Id : 99836739435 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question below are given some staternents followed by some conclusions based on those
staternents. Taking the given statements to be true even if they seem to be at variance from commonly known
facts. Read all the conclusions and then decide which of the given conclusion logically follows the given
Statermnents.

Staterments:

[ MNoJisE.

II. Mo E is W
[II. &Il Ware E.

ConClusions:

[ MoK 15 E.

II. NoRis |

III. Sormne Ware not B

Options:

1. % Only conclusion I follows

2. % Both conclusion I and II follows
2. % Both conclusion I and I follows

4. #® Meither conclusion follows

Question Number : 11 Question Id : 99836739435 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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1. % el Tomepy 11 ST e #3aT &

2 % gl Tmed | F2T Il SgE FWd 5
3. g1 Ty 11 T2 I e & d &
4 % i ot Fwwd ergev A5l awar

Question Number : 12 Question Id : 99836739436 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the related number from the given alternatives.

46 22787
Options:
1. % 36

2. ¥ 38
3. % 34
4. % 32

Question Number : 12 Question Id : 99836739436 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TaimiET v | for my Hwedt o & detia dear w1 giam
4622787

Options:

1. % 36

2. ¥ 38
3. % 34
4. % 32

Question Number : 13 Question Id : 99836739437 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& 561185 15 givern with one term wrong. select that wrorg term from the given alternatives.

14,7, 8, 105, 21
Options:

1. %7

Z % 105

3. ¥ 3

4. % 14

Question Number : 13 Question Id : 99836739437 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T @ T T &, e | U ug Ted 8 Tou my Hwedt # 9 39 Ted ug, @i g
14, 7, 3, 105, 21

Options:

1. %7

= ® 105



v 3
4. % 14

Question Number : 14 Question Id : 99836739438 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Identify the diagrarn that best represents the relationship among the given classes.

Fermale, Mother, Urncle
Options:

D

1. %
o

(0o
= o

(0o
4 %

Question Number : 14 Question Id : 99836739438 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

D
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Question Number : 15 Question Id : 99836739439 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
From the following diagram how rmany plastic are green?

(ireen

"r"-"ti ol

Plastic

Options:
1. % 11
o % g
3 %7
4 95

Question Number : 15 Question Id : 99836739439 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Trierrad e # 4 foradl weniese® gi 87

b gl
= 3

Options:
1. % 11
= %5
3 %7
4 5



Question Number : 16 Question Id : 99836739440 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Sumarn travels 10 krm towards west. She turns right and wallke 13 kon She again turns right and walks 10 k.
She finally turns right and walks 23 kil In which direction is starting point from the finishing point?

Options:

1. % South
2. % wWest
= % East

4. % Iorth

Question Number : 16 Question Id : 99836739440 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

R ¥t TR S ST A site R ¥ =Tt B o e Tt ot For ot =reret
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Options:
1. % g
2 % ghow

3 %O

4 % 3T

Question Number : 17 Question Id : 99836739441 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& bus travels 100 metres towards south, It turns right and travels 200 metres. It again tarns right and trasels
100 metres to reach shop G, Now, bus travels 500 metres in north direction. It finally turns left and travels
1200 metre and reach hospital M. In which direction and how far is hospital M from shop G7

Options:

1. # 1200 metres, North east
2. % 1350 metres, West

2. % 1250 metres, East

4. % 1200 metres, MNorth west

Question Number : 17 Question Id : 99836739441 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T &6 ST W1 & 100 HiTe =T FdT 8l agazﬁaﬂfﬁg@ﬂ?%mmoﬁﬁwaﬂﬁ% T St R g2t g 3= 100
HITT AT ek G G OX Tp=l ST 51 STl o0 o TepdlT # 500 HIST AT dd [ 51 &g Sad: st % g2 5 9907 1200 HiET 9T
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Options:

1. % 1300 A7, o€ g&
2 % 1350 Hiex, uked
3. % 1250 #few, 0

4, % 1300 BTy, T9 UEay

Question Number : 18 Question Id : 99836739442 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



In the following question, select the wrong figure from the given series.

Eﬂlﬂlﬂa Eﬂlﬂl ; Eﬂlﬂ ; Eﬂl ; Eﬂ a

Options:

{

Question Number : 18 Question Id : 99836739442 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TafeET wg |, SF TRIT EeT § & e gl @ e

Eﬂlﬂlﬂa Eﬂlﬂl ; Eﬂlﬂ ; Eﬂl ; Eﬂ a

Options:

{




3. v

Question Number : 19 Question Id : 99836739443 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
How many triangles are there in the given figure?

Options:
1. % 1¢
o % 18
3 %17
4 ¥ 15

Question Number : 19 Question Id : 99836739443 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ST TS ST # fepert et &7

Options:
1. % 1¢
o % 18
3 %17
4 ¥ 15



Question Number : 20 Question Id : 99836739444 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If a mirror is placed on the line AE, then which of the answer figures is the right image of the given figure?

Question Number : 20 Question Id : 99836739444 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Sub-Section Id: 9983672017
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 99836739445 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

which of the following classical dance form was introduced in the 15th century & D by Mahapurusha
Sankaradeva as a powerful medium for propagation of the Vaishnava faith?

Options:

1. # EBharatnatyarm
= ¥ Sattriva

2. % Mohinivattam

4. % Manipuri

Question Number : 21 Question Id : 99836739445 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

W&%ﬁﬁmwﬂﬁﬁ 15 of sTe § HETIET Jood G owuTd e & W o Toil] o ST aliel! HTedm & &
) .

Options:

1. % aaAT=TH
2. gicam

3. % gifgetesn
4 & gioger

Question Number : 22 Question Id : 99836739446 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

‘Bathukarmma’ is a colourful and vibrant festival of floweers and stands as a symbol of cultural identity. It is
celebrated in which of the following Indian states?

Options:

1. * Punjab

2. % Maharashtra
2. % Gujarat

4. ¥ Telangana

Question Number : 22 Question Id : 99836739446 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ST @mwnﬂqmcﬁaﬁaﬁﬁwﬁwﬁﬁwﬁwu@aﬁﬁmﬂfwﬁ% o Tete e # & T e o O H
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Options:

1. % o=me
2. % wEEry
3. % Td
4. e

Question Number : 23 Question Id : 99836739447 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The maximum maturity period of Treasury bill (T -Eill) is
Options:

1. % 104 weeks

2. ® 13 weeks

3. ¥ 52 weeks

4 % 26 woeks

Question Number : 23 Question Id : 99836739447 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Sret Tele (E1-Taie) T arrerray uieagar swEter ______ 2l
Options:

1. % 104 9AT%

2 % 15 9ATE

3. ¥ 52 HAR

4 % 26 9ATZ

Question Number : 24 Question Id : 99836739448 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following institutions manages the public debt of the Central and the state governments in India?

Options:

1. ¥ REI

Z % NABARD
3. % SEI

4. % Ministry of Finance

Question Number : 24 Question Id : 99836739448 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T o & o1 | deen, ara | g T T SR o Qe e FL0T F Wele Fedl a7

Options:

1. % ST A
o ® qEE

3. % raEag
4. ¥ B A

Question Number : 25 Question Id : 99836739449 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following chemical compound is also knowr as Dry ice?

Options:

1. ¥ Solid nitrogen oxide
= ¥ Solid carbon dicxide
2. % Solid armnrmonia

4. % Solid hydrogen oxide

Question Number : 25 Question Id : 99836739449 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
TRTeTET o o o Tt <ie @ gur ok @ w0 o off S Sar e

Options:

1. % F AEg AT TFdEs
o, ¥ T T SRTTHES
= ¥ FN e

4. ® I TES AT HTFES

Question Number : 26 Question Id : 99836739450 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following device is based upon Archimede’s principle?

Options:

1. ¥ Hydrometer
2. % Ohmmeter

3. ® Galvanometer
4. % Voltmeter

Question Number : 26 Question Id : 99836739450 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TraiEET # & W AT IUE AT IS a0 TG 57

Options:

1. gEer
2 ® Ry

3 ® TEdmee
4 ® Feediey

Question Number : 27 Question Id : 99836739451 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the folln:nwing staternents regarding cell organelle rtochondria s incorrect?

Options:
1 ® They hawe their owr DINA and ribosomes and are able to malke sorme of their owrl Rrotein.

2. % The energy require for various chemical activities needed for life is released by mitochondria in the form
of ATF molecules.

=, ¢ Mitochondria’s outer membrane is deeply folded while the inner mermbrane is very porous.

4. % The body uses energy sored in ATP produced by mitochondria for making new chemical compounds and
for mechanical worls,

Question Number : 27 Question Id : 99836739451 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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S, & AT HT gLl [SEe! agd STt aieid gia T gl Wil et e gt gl

4 % ST AT TEEE AT e T AT B o o0 g Gy WiHd ATP § 9icd S0 @7 I #9747 gl



Question Number : 28 Question Id : 99836739452 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich of the following rivers is not a west flowing river in India?

Options:

1. ¥ Sabarmati

Z ¥ Rushilulva

3. # Bharathapuzha
4. % Perivar

Question Number : 28 Question Id : 99836739452 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TrafeiET o & @ |1 A5 W § aisr & I g e Ay TR e
Options:

1. % graeadr
2. ¥ g

5. % AT
4. ® Ui

Question Number : 29 Question Id : 99836739453 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The Standard Meridian of India (82*20'E) passes through ______ )
Options:

1. #¥ Bhopal iin Madhya Pradesh)

2 ¥ Mirzapur (in Uttar Pradesh)

2. % Nagpur (in Maharashtra)

g, ® Bangalore iin Karnatalsa)

Question Number : 29 Question Id : 99836739453 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT T ATF dAiieaT (82°20'E) ______ I AT &l
Options:

1. % a7e (meg e /)
2. ¥ THAT (3 woar )
3. ¥ T (AR #)
4. ® fAR (@i H)

Question Number : 30 Question Id : 99836739454 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following neighbouring country of India shares its borders with four Indian states only?

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.

Options:

1. Bhutan



2. Mepal
=. Bangladesh
4. ZChina

Question Number : 30 Question Id : 99836739454 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TraeET # & 9RT BT R AT S T 8 ST AT W e W W 9 Tl o AT wIs a5y

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.

Options:

1 g

2. =TT

3. AT

4 =

Question Number : 31 Question Id : 99836739455 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
who was the first ruler of the Gupta dynasty to adopt the grand title of Maharaj-adhiraja?

Options:

1. ® Sarmudragupta
= % Chandragupta
2. ® Chandragupta II

4. % Harshavardhana

Question Number : 31 Question Id : 99836739455 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
THe T T UEHT ATEHF i AT S WERATTERT & kel JUTre emeoT & off?

Options:

1. % @qgH

2. ¥ T

3 % g1l
4. % gaeig

Question Number : 32 Question Id : 99836739456 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following social reform organization - founder pair is incorrectly matched?

Options:

1. ® Brahmo Samaj - Raja Rammohan Roy

= % Arva Samaj - Swarmi Davanand saraswati
3. % Young Bengal - Henry Derozio

4. % Prarthana Samaj - Jyotirao Fhule

Question Number : 32 Question Id : 99836739456 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TERET & & &9 a7 ST G GE - SEIUE AIS T TAd a1t & Hel @TaT a7



Options:

1. % gyl GAR - T THARA O

= R T gET - TATHT SO g |
3. % AT GTA - B ST

4, AT G - S Gl

Question Number : 33 Question Id : 99836739457 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

which one of the following was the first ruler who tried to take his message to the people through inscriptions
in Prakrit?

Options:

1. ¥ Asholka

2. % Bindusara

2. % Chandragupta
4. % Rajaraja Chola

Question Number : 33 Question Id : 99836739457 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TrgietiaT & & @ 9T UgaT JTad a7 e Sl S8 w1 uTpd § TAATeEt 3 ATerd 6 AT G of A @  anar & oty

Options:
1. & a1

2. % fagar
3 % ogH
4 R T I

Question Number : 34 Question Id : 99836739458 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

which of the following is the chairman of the committes that has been established by the Government of India
to study issues related to non-personal data and suggest the ways to regulate non-personal data?

Options:

1. % Madhav Gadgil

2. ¥ Kris Gopalakrishnan
2. % Nandan Milekani

4 % M. MNarasirmhan

Question Number : 34 Question Id : 99836739458 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

AR 20T & Fallad e i BT Sraer F-1 g7 I-caiha 227 & fafafie & & a0t =1 920 2 & o aRa aewm
BT AT TR & areag g # 9 & 57

Options:

1. % greg Mt
2. ¥ T TTAgeT
3. % g Aletwi
4, % U@ AR




Question Number : 35 Question Id : 99836739459 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Digital Econormy Eeport 2013 was released by

Options:
1. # World Bank

2. % World Econorric Forum
3. ® world Trade Organisation

4.9 United MNations Conference on Trade and Drevreloprierit

Question Number : 35 Question Id : 99836739459 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T&TTer epfemaes o 2019 FUEIAETRIEE]

Options:

1. % e

2. % e amide v

3. % e AU |@TaA

4 TR U T U 6% O GFfeT

Question Number : 36 Question Id : 99836739460 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Arcadia Education Project of which country has been awarded the prestigious Aga Khan Architecture Award
Z014y

Options:

1. ¥ Bangladesh
2. % Iran

2. % India

4 % SriLanka

Question Number : 36 Question Id : 99836739460 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T 91 O QIR TISAT Uk e WHere 1 NI e ST @ Tidhdaat afdie 2019 & e foam mm 87

Options:

1. & e
o % e
3% O
4. % HieewT

Question Number : 37 Question Id : 99836739461 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

According to sixth schedule of Indian Constitution, which of the following can be done by the Gowvernor of the
state for Tribal Areas in Assam, Meghalaya, Tripua and Mizoram?

I. Create a new autonomous district,
II. Increase the area of any autonomous district.

Options:



1. % Onlyl
2 % Cnly 11
= % Both [ and 11

4. % neither I nor 11

Question Number : 37 Question Id : 99836739461 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T 127 WIS 1 TaT SRJeE ! & TR 0, 16, Tamere, B a7 e & s 31 & ded § T & teare et
 FT T AFAT 57

1. =7 Tt FAET =T g
11, et et et &7 & =% T |

Options:
1. % dadl

2 B Faell
3. ¥ [ qurll =t
4 % QI ATEIII

Question Number : 38 Question Id : 99836739462 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The procedure for impeachment of the President in India is mentioned under which Article of the Indian
Constitution?

Options:

1. % Article 66
= ¥ Article 61
3. % Article 62
4. % Article 59

Question Number : 38 Question Id : 99836739462 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
URT | TEI T ETE=IT e i Wi & Joeid A 14 Gice & o alqeds & agd 16T =T 57

Options:

1. % ardg 66
2 ¢ arfeg 61
3 % arEdg 63
4 ® arEdg 59

Question Number : 39 Question Id : 99836739463 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The 2019 FIBA Basketball World Cup was hosted by )

Options:

1. % China
2 % 1ISA
3. % France

4 % Canada



Question Number : 39 Question Id : 99836739463 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
2019 el adreald Toea &7 & Adar-T ERT &1 TE o

Options:
1.9 =i

2 % guET
3 % mg

4, ® FAET

Question Number : 40 Question Id : 99836739464 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who has becormne the first Indian worrarn para-athlete to e conferred Fajiv Gandhi Khel Eatna award?

Options:

1. % Marivappan Thargavelu
2. ¥ Deepa Malik

2. % Yarun Singh Ehati

4. % Kararmjvoti Dalal

Question Number : 40 Question Id : 99836739464 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T Tl 6 T Qe & T S aTel Uge ! W 1 Wil SRT-TEe ®I9 a7

Options:
1. % R0 ST
2. o T AfRE
2 ® g g et
4, % FEH=ANT TATA

Arithrmnetic Ability
Group Number : 3
Group Id: 9983671223
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

Arithrmetic Ahility

Section Id : 9983671622
Section Number : 1



Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 9983672018
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 99836739465 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is the value of: (1ﬂ24]‘]'5+(1t]24)‘]'4
Options:

1. % 4

= ¥ 18

3. %3

4 % 22

Question Number : 41 Question Id : 99836739465 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

1024)° % = 1024)° g7 T T B2
Options:
1. % 4
> W 15
3% 7
g ® 32

Question Number : 42 Question Id : 99836739466 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

DT i A NG e g i)
24+3-8+2x244

What is the value of:

Options:
1.¥3
2. ® g
3. %2
4 % 4

Question Number : 42 Question Id : 99836739466 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
5+Tx%x3—25x8+54+8=2
24+3—-8+2x244

FT AT FIAT 22

Options:
1.¥3
Z ® 5
3 %2
4. % 4

Question Number : 43 Question Id : 99836739467 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If 54ZE is divisible by &, then what is the value of B?

Options:
1.9 4
2 %8
z w2
4 %0

Question Number : 43 Question Id : 99836739467 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
i S48E, 6 ¥ dvM=a 5, ITE FTHE Fa7 57

Options:
1.9 4
Z % B
3 %2
4. %0

Question Number : 44 Question Id : 99836739468 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

: 3 s PR |
If A= 53”'[812) and B = 6%’[?‘) xﬁf/[iiz] then what is the value of A + B?

Options:
1.% 3
=z %3
3. ¥ 6
4. % 4

Question Number : 44 Question Id : 99836739468 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

?-Tﬁ'A=83,.|I[rE]2)3 HEHTB=631’(34~]3 xﬁﬁ[raz)ﬁ ar A + B T AT F4T 272




Options:
1. %9
2. % 3
3.V B
4. % 4

Question Number : 45 Question Id : 99836739469 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which shows the correct descending order of the given values?

Options:

%o, 12025, 43
1. =

| I 6 4
3 # ﬁl%ﬁ’w

. 90,4513

Question Number : 45 Question Id : 99836739469 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

I &7 T T W T ved g FH H wE T ST 57

Options:

%o, 12025, 43
1. =

12 6 4

. 90,45, 1%

Question Number : 46 Question Id : 99836739470 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If the discount offered on article is 16%, then what is the ratio of marked price of this article to the selling price
of this article?

Options:



1. % 21:25
2 ® 73
3% 37
4. ¥ 25 21

Question Number : 46 Question Id : 99836739470 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

e O T R ST TR g 16% &, 91 S areq W ST Yo W 58 g o Tl 4r € w4y s g
Options:

1. % 2125

2% 73

I %37

4 ¥ 2521

Question Number : 47 Question Id : 99836739471 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Wwith the increase of 25% in the price of rice, a household also increased her expenditure by 5% By how much
percentage her consurmption 15 reduced?

Options:

1. ¥ 16 percent
2. % 20 percent
I % 12.5 percent
4 % 25 percent

Question Number : 47 Question Id : 99836739471 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT o Hrd H 25% W1 Jhy, o T, U YU S @l i At 5% & aeT T 31 e |ud e uidea & @0 gl T ey

Options:

1. % 16 nideT
o, ® zondaT
3. % 12T

4 % o5 gt

Question Number : 48 Question Id : 99836739472 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Two candidates contested a election. One of them obtained 0% votes of total votes, Winner got how much
percentage votes more than the other candidate?

Options:

1. % 75 percent

2. % 32333 percent
=, % 4L percent

4 % 50 percent

Question Number : 48 Question Id : 99836739472 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
ST FPHIGETR! = U AT FIST IH & U B Pl Al & 60% 7d ATH U TeiaT @l gae Jriga o fora- uidae sitée o 0Td gu?

Options:

1. % 75 ofdsm

o % 33330
3. % 45 OideT

4« SouldaT

Question Number : 49 Question Id : 99836739473 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Selling price of two articles R and G is same. Profit earned on article B is 60% and 1055 incurred on article G is
20%. If a trader wants to earn a profit of 90% on R and cost price of G is B35, 460, then what will be the new
selling price of R?

Options:

1. * Es 429
2. % EFs 414
3. % Rs 467
4. ¥ Rs. 437

Question Number : 49 Question Id : 99836739473 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

BT aeq et R 991G @1 foad gpd @A 31 @6q R 0T FHTET 747 @19 60% § 9T aq G U F2 gIi- 20% 51 Iig U feddT R 0
0% T AT THET A5dT & 991 G & &9 ed 460 704 §, TR H 947 T d g a7 57

Options:

1. % 420wt
o % 414 T
3 % 457 T

4 & 437 w0

Question Number : 50 Question Id : 99836739474 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

F, @ and R are partners and invest in a business. P invests 1/6th of total and & invests 2/5th of the total.
Wwhat is the ratio of profit of P, © and R respectively?

Options:

1. % 12:5:13
2. % 10:32:.4
I w532
4 ¥ 51213

Question Number : 50 Question Id : 99836739474 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

P,  FUTE 91%ER & 997 0% 00K | (e #ed 81 P §d o ®7 1 (6 9T 97 Q Fel T4efar &7 25 A e a1 21 % P,
O TUTR. & #T & iU &7 27

Options:

1. % 12: 513

2% 1024



3. w522
4 ¥ 5:12: 13

Question Number : 51 Question Id : 99836739475 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The income of &4, Eand C are in the ratio 1 : 2 : 2 respectively and their expenses are in theratio 2 . 3. 4
respectively. If & saves Rs. 8000 cut of an incorne of Rs. 20000, then what will be the saving of E?

Options:

1. % Rs. 40000
= ¥ Rs. 22000
2. % Rs 24000

4. ® Hs 30000

Question Number : 51 Question Id : 99836739475 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ABTANCHATFAML: 2:3F HE T IR AT FHS: 22 30 4 F ud # 81 I1g A, 20000 702 FT e &7
2000 F T2 s, a1 E fﬁmww

Options:

1. % 40000 7o
2. ¥ 22000 F0
= % 24000 w0

4 ® 30000 T

Question Number : 52 Question Id : 99836739476 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A surm of Rs. 3200 is invested at compound interest (compounding annually) at the rate of 20% per annurm for
two years. How rmuch interest will be received after two years?

Options:

1. % Rs 1304
2. % Rs. 1468
2. % Rs 1324
4. ¥ Rs 14038

Question Number : 52 Question Id : 99836739476 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

200 T 6T T T T T g =2 (@ Ha- ) U7 20% Widad & 27 & 2 af & &y e T mar 21 21 o e
TR =T HTH ST

Options:

1. % 1304 o
o % 1465 70
3 % 1324w

4 % 1408 w0

Question Number : 53 Question Id : 99836739477 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



& train leawes Delhi at 7 a.m. and reaches Jaipur at 1 pom. on sarme day. Another train leaves Jaipur at 3:00 4.
m. and reaches Delhi at 2 p.m. on same day. What is the time of day (approximately) wher the two trains will
TTIEeEt?

Options:

1.9 10:49am
2. % 10:00 am
2% 10:06 am
4 % 11:06 am

Question Number : 53 Question Id : 99836739477 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T {ATe! [Eeal 6 7 (T, TW.) O =FRd 1 g a6l fe 1 SomTgy (oY, U.) UY STaqe qg=et gl TAMIET S & 9:00
el (0. UH.) O =R T 5 a7 T T 2 ST (0. ) O Tgmelt ag=rd 1 2l ﬁ?ﬁﬁﬂﬂﬂ(@%ﬁﬁ@ﬁmﬁﬁﬁﬁ?

Options:

1. v 10:49 qaig
2. % 10:00 yaig
3 % 10:06 gag
4 % 11:06 qalg

Question Number : 54 Question Id : 99836739478 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& truck left 2 hours early than the scheduled time and in order to reach its destination 192 km away on time, it
had to decrease its the usual speed by 8 lan/hr. What is the usual speed of the truck?

Options:

1.9 32 km/hr
2. % 30 km/hr
2 % 40 km/hr
4 % 2B km/hr

Question Number : 54 Question Id : 99836739478 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

wgmﬁaﬁﬁmﬁzﬁ% THIeraT & 9T 192 Top Y. ¥ 310 Tded T 0T G0 | g & oy 36 SiuT g Tid
H 5 Top AT, Wid =eT d T et 2T oo S " T a7

Options:

1. 32 fpdt joe

2 ® 30 fpdr e

3 % 40 TRt e

4 % of fydt e

Question Number : 55 Question Id : 99836739479 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A alone can cormplete (213 of a work in 40 days. B alone can complete (23/4) of the same work in 60 days. In
how many days & and B together can complete (7 [ 8) of the same work?

Options:
1. % 24ddays
2 ¥ 20 days



I % Z2days
4 % 36 days

Question Number : 55 Question Id : 99836739479 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A, 37kt U 1 @ (21 3) 40 T W a7 awdr g, B ST @A ®1 #T (3 ) 4) 60 T H O FW Awar g A T E g Heew
qAT F1 T (71 8) T o o o @ w87

Options:

1. % 242
2 ¥ 30T
3 % 30RA
4. % 36T

Question Number : 56 Question Id : 99836739480 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Fadius of wheel of a motorcycle is 14 o I its wheel is rotating at the speed of 200 round per minute, then
what will be the speed of motorcycle?

Options:

1. % 4818 km/hr
2. % 4504 km/hr
2. ¥ 42 24 lanfhr

4 % 2562 kmfhr

Question Number : 56 Question Id : 99836739480 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
%mwmﬁﬂaﬂr%@rfﬁﬁw 14 |41 21 afe Jaa@T ufgar 800 =g wid e & it & grar 2, a7 Biecarg i &1 mid w0

Options:

1. % 4518 fop #1 o2
2. % 4504 TR AT g
3 ¥ 42 24 TR AT YT
4, % 25 g2 R AT HeT

Question Number : 57 Question Id : 99836739481 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A cylindrical wessel of radins 8 cm is partly filled with water. & sphere of radius 6 cm is completely submerged
into the water. What will be the increment in the height of water?

Options:
1. % 48cm

2. % 3E5com
3. % 3 Bcom
4 % 45cm

Question Number : 57 Question Id : 99836739481 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



2 HH BT gt S ad T F §F Tged § T R 5T 8 U 6 AT B anet mie w Qe vy o § ST ST g1 Ol
e ® Rt sy iar gy " § B

Options:

1. % 4.8 AT
2 ® z A
3 % zEaHn
4 & 4580

Question Number : 58 Question Id : 99836739482 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The pie chiart given below shows the number of cars parked in five different parking areas of a city. Number
of cars parked in a particular parking area is showt as a percentage of total number of cars parked in all
parking area together,

Wwhat is the difference in central angle subtend by sectors for parking area P4 and P17
Options:

1. % 22.4°

2. % 26.4°

3% 2140

4. 9 32.4°

Question Number : 58 Question Id : 99836739482 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. % 22.4°

2. % 26.4°



3% 21.4°
4 ¥ 32.4°

Question Number : 59 Question Id : 99836739483 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The bar graph given below shows the number of calculators sold by shoplkeepers on different days of a weel,

1600 - 1400 1300
1400 -+ 1200 FE]
1200 1000 ™

1000 - 200
800 - 600

600
400 ~
200 ~
0 T T T T T ]
DI D2 D3 D4 D5 Dé

Number of calculators

Days

The number of calculators sold on day D2 is what percentage of total nurnber of calculators sold on D4 and
D&Y

Options:

1. % 10 percent
2. # 15 percent
3. % 35 percent
4. 9 60 percent

Question Number : 59 Question Id : 99836739483 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % 10 ufdem
2. % 15 idem
3. % 35 OideE
4 ¥ SO nudaT

Question Number : 60 Question Id : 99836739484 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The bar graph given below shows the number of shirts of different colour in a shop.

300 -
250 - 5% =
200 1 i 17 160
150 - 120

100 A

Number of shirts

Cl C2 €3 C4 5 Cb

Colours

Wwhat is the ratio of number of shirts of any colour C6 to the number of shirts of colour C47
Options:
1. ¥ 5

> ® 4.
o %5
4 ® 5.

et I L TR 0 [ 4

Question Number : 60 Question Id : 99836739484 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1.95:4
2 % 4.5
3. %52
4 ¥ 5.7
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Sub-Section Number: 1
Sub-Section 1d: 9983672019
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 99836739485 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

She will finish (1)) the work in (2)] along a weel (3)/ Mo error (4)
Options:
1.%1
2. w2
2 V3
4 % 4

Question Number : 61 Question Id : 99836739485 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the givenl sentence that has an error in it. If there is no error, choose Mo error’.

She will finish {13 the work in (2)] along a week (31] Mo error (4)
Options:
1.%1
2 w2
2V 3
4 ® 4

Question Number : 62 Question Id : 99836739486 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it If there is no error, choose To error,

A poor blind (1) beggar was knock (2)) down by a bus (31 No error (4)
Options:
1.% 1
2. V2
=% 3
4 % 4

Question Number : 62 Question Id : 99836739486 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

A pocr blind (1)) eggar was knoclk (21 dowrl by a bus (31 No error (4)
Options:
1.% 1
2. V2
3. %3
4 % 4



Question Number : 63 Question Id : 99836739487 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Improve the bracketed part of the sentence.

She wisited her aunt just (before a weelk).
Options:

1. % a week before

2. ¥ g weel 320

3. % a week earlier

4. % Mo improvernernt

Question Number : 63 Question Id : 99836739487 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Improve the bracketed part of the sentence.

She wisited her aunt just (before a weelk).
Options:

1. % a week before

= ¥ 3 weelk 320

3. % 3 week earlier

4. % No improvernernt

Question Number : 64 Question Id : 99836739488 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
[rnprove the bracketed part of the sentence,

I have not finished (to paint) the door.
Options:

1. ® the painting

2. ¥ painting

2. % the paint of

4. % No improvernent

Question Number : 64 Question Id : 99836739488 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Improve the bracketed part of the sentence.

I hawe not finished {to paint) the door.
Options:

1. * the painting

2. ¥ painting

2. % the paint of

4. # Mo improvernent

Question Number : 65 Question Id : 99836739489 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
A sentence has been givernl with a blank to be filled with an appropriate word. Choose the correct alternative,

He has decided to for the conservative party.
Options:

1. ¥ canvass

2. % ranvas

2. % advertise

4. % Canvassing

Question Number : 65 Question Id : 99836739489 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

He has decided to for the conservative party.
Options:

1. ¥ canvass

2. % canvas

2. % adwvertise

4. *® canvassing

Question Number : 66 Question Id : 99836739490 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

ur salaries have ______ over the years.
Options:

1. * adored

2. % progressed

2. ¥ increased

4. % developed

Question Number : 66 Question Id : 99836739490 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative,

our salaries hawve ______ ower the vears.

Options:
1. % adored

2. % progressed
3. ¥ increased
4. % developed

Question Number : 67 Question Id : 99836739491 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Rearrange the parts of the sentence in correct order.

P him when his

2 [ was told

E: vou looked after
2. end was near

Options:

1. % PQRES
2. % SROP
2. ¥ CQRPS
4 % QRSP

Question Number : 67 Question Id : 99836739491 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Rearrange the parts of the sentence in correct order.

F: him when his

2 [ weas told

E.: vou looked after
5: end was near

Options:

1. % PORS
2. % SROP
2. ¥ CQRPS
4 % QRSP

Question Number : 68 Question Id : 99836739492 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Rearrange the parts of the sentence in correct order.

F: for all scenes
) He krews

E: rehearsals were
S: not important

Options:

1. % FROS
2. % SROP
3. ¥ QRSP
4 % SPOR

Question Number : 68 Question Id : 99836739492 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Rearrange the parts of the sentence in correct order.

F: for all scenes
) He krews

E: rehearsals were
S: not important

Options:



1. ¥ PROS
2. % SROP
3. ¥ QRSP
4. % SPOR

Question Number : 69 Question Id : 99836739493 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that is opposite in meaning to the given word.

Sirrnlar
Options:

1. # Kind

2. ¥ Dissirralar
3. ® COppose
4. % Contain

Question Number : 69 Question Id : 99836739493 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that 15 opposite in meaning to the given word.

Sirrular
Options:

1. ¥ Kind

2. % Dissirmilar
3. ® Oppose
4. % Contain

Question Number : 70 Question Id : 99836739494 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that reans the same as the given word.

Conceds
Options:

1. ® Reject
= % Start

3. % Weaken
4. % Affirm

Question Number : 70 Question Id : 99836739494 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that means the same as the given word.

Zoncede
Options:
1. % Reject
2. % Start



3. % Weaker
4 % Affirm

Question Number : 71 Question Id : 99836739495 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt
WOrd.

Options:

1. ¥ Corespondence
2 % Correspondance
3. ¥ Correspondence

g, ® Corressponderice

Question Number : 71 Question Id : 99836739495 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt
wiord.

Options:

1. % Corespondernce
2. ® Correspondance
2. ¥ Correspondence

4. % Corresspondence

Question Number : 72 Question Id : 99836739496 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word i3 incorrectly spelt. Choose the incorrectly
spelt word.

Options:

1. ® Hierarchy
Z ¥ lgnorence
2. % Inoculate

4. % Gauge

Question Number : 72 Question Id : 99836739496 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are givenn out of which one word is incorrectly spelt. Choose the incorrectly
spelt word.

Options:

1. * Hierarchy
2. ¥ lgnorence
2. % Inoculate

4. ® Gauge

Question Number : 73 Question Id : 99836739497 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



In the following question, cut of the given four alternatives, select the alternative which best expresses the
meaning of the Idiom Phrase.

Ering horne the bhacon

Options:

1. # Subject matter of the fight
2. % Topraise one

2. ¥ To earn money to live

4. ® To keep quite

Question Number : 73 Question Id : 99836739497 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following questiorn, out of the given four alternatives, select the alternative which best expresses the
meaning of the Idiom | Phrase.

Ering home the bacon

Options:

1. ® Subject matter of the fight
= % Topraise one

2. ¥ Toearn money to live

4. % Tokeep quite

Question Number : 74 Question Id : 99836739498 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, cut of the given four alternatives, select the alternative which best expresses the
meaning of the Idiom Phrase.

Heart missed a bheat
Options:

1. ® Be guiltless

2. ¥ Very excited
2. % Good natured

4 % A serious rmistake

Question Number : 74 Question Id : 99836739498 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the
meaning of the Idiom (Phrase.

Heart rmissed a beat
Options:

1. # Be guiltless

= ¥ Very excited
2. % Good natured

4 % 4 serious rmistale

Question Number : 75 Question Id : 99836739499 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
Choose the word that can substitute the given sentence.

& place where bodies are kept for identification.
Options:

1. ¥ Morgue

2. % Crchard

>, * Lair

4. % Hutch

Question Number : 75 Question Id : 99836739499 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that can substitute the given senternce.

A& place where bodies are kept for identification.
Options:
1. ¢ Morgue

2. % Crchard
2. % Lair

4. % Hutch

Sub-Section Number: 2
Sub-Section 1d: 9983672020
Question Shuffling Allowed : Yes

Question Id : 99836739500 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (76 to 80)
Cuesticon Label | Comprehiension

Read the following information carefully and answer the given questions.

Young people are living in a world of immense and increasing complexities. At every turn the landscape
through, which they are moving is changing faster than at any time in history. This is true economically,
socially and culturally. For all Mational Governments there are two related priorities in planning for the future.
The first is to find ways of realising the creative resources of all young people to enable thern to participate in
these changes positively and constructively, The second is to engage with cultural diversity, while maintaining
cultural identity and social cohesion. These concern underpin the work of the Council of Europe’s project ”
Culture, Creativity and the Young®.

This policy note surmmarises some of the issues and proposals, which have begun to emerge from the activities
of the project to date. It draws from a survey of Arts Education in Europe published in the exploratory phase
of the project from international colloquies organised by the project’s international series of thermatic studies
corrrmissioned by the project’s international advisory group. The note argues that it is essential for Mational
Government to frame coherent policies and programmes to support the creative and cultural developrnent of
all young people and it identifies the central questions and issues, which will define these policies and the
principles on which they might be based.

Sub questions

Question Number : 76 Question Id : 99836739501 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following staterments is correct?

Options:



1. ® Voung people are very complex in nature,
2. ¥ Governments are realising the creative resources of young people.
3. ¥ It is the duty of the Naticnal Government to frame creative and cultural development of all young people.

4. ¥ Governments are realising the creative resources of young people and it is the duty of the National
Government to frame creative and cultural development of all people.

Question Number : 77 Question Id : 99836739502 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhy there is a need to frame a policy for younger people?

Options:
1. ® Young people prefer to live in a dilermma condition.
2. ¥ To support the creative and cultural developrment of all young pecple.

= % Young people prefer to live in a dilemma condition and to support the creative and cultural developrent
of all voung people.

4. % Young people are very confident.

Question Number : 78 Question Id : 99836739503 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which word means the same as collogquies?

Options:

1. # 5Silence
2 ® Quiet

3. ® Introvert

4 " Converse

Question Number : 79 Question Id : 99836739504 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which word does not mean the same as cohesion?

Options:

1. % Union

2. % Coherence
3. % aidherence

4. ¥ Policies

Question Number : 80 Question Id : 99836739505 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which word means the same as exploratory”

Options:
1. % Additional

2. % Closing
=, ¥ Preliminary
4. % Secondary

Question Id : 99836739500 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No



Question Numbers: (76 to 80)
Juestion Label - Comprehension

Eead the following information carefully and answer the given questions.

Young people are living in a world of irmmense and increasing complexities. At every turn the landscape
through, which they are moving is changing faster than at any time in history. This is true economically,
socially and culturally. For all Mational Governments there are two related priorities in planning for the future.
The first is to find ways of realising the creative resources of all young people to enable them to participate in
these changes positively and constructively. The second is to engage with cultural diversity, while maintaining
cultural identity and social cohesion. These concern underpin the work, of the Council of Europe’s project ”
Culture, Creativity and the Young®.

This policy note surmmarises some of the issues and proposals, which have begun to emerge from the activities
of the project to date. It draws from a survey of Arts Education in Europe published in the exploratory phase
of the project from international colloquies organised by the project’'s international series of thematic studies
cormrmissioned by the project’s international advisory group. The note argues that it is essential for National
Government to frame coherent policies and programimes to support the creative and cultural developrment of
all young people and it identifies the central questions and issues, which will define these policies and the
principles on which they rright be based.

Sub questions

Question Number : 76 Question Id : 99836739501 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following statements is correct?

Options:

1. %* Young people are very cormplex in nature.

2. % Governments are realising the creative resources of young people.

2. ¥ It is the duty of the National Government to frame creative and cultural developrment of all voung people.

4. ® Governments are realising the creative resources of young people and it is the duty of the National
Government to frame creative and cultural developrment of all people.

Question Number : 77 Question Id : 99836739502 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
why there is a need to frame a policy for younger people?

Options:
1. ® Young people prefer to live in a dilermnma condition.
2. % To support the creative and cultural development of all young people.

2. ® Young people prefer to live in a dilermnma condition and to support the creative and cultural developrnent
of all young people.

4. % Young people are very confident.

Question Number : 78 Question Id : 99836739503 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which word means the same as colloquies?

Options:
1. # Silence

oo Ciet
3. ® Introvert

4 ¥ Converse



Question Number : 79 Question Id : 99836739504 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which word does not rmean the samne a5 colesiony

Options:

1. % Union

2. % Coherence
3. % Adherence
4 ¥ Policies

Question Number : 80 Question Id : 99836739505 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which word means the same as exploratory™?

Options:

1. % additional
Z % Closing

3. % Preliminary

4. % Secondary
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Question Number : 81 Question Id : 99836739506 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
&0 1T geT T G ST hiem

TS

Options:

1. & TogeT gHg
o, % gz A

3. ¥ g aEe
4. % qgeiity ward

Question Number : 81 Question Id : 99836739506 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T T STeT T R AT A

R

Options:

1. % JoqeT gH
= ® oz |Eg

3. % FHuwg A
4. % ity gug

Question Number : 82 Question Id : 99836739507 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TaW T ATec! o HIE A
778 + M

Options:
1. % arreremy

o % arr
Z. % s
4 ® amfhama

Question Number : 82 Question Id : 99836739507 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

e Ty sreet @ AT AT

aTTeEr + S
Options:
1. % sy

2 % aregry
I ® anftr
4 8 areffham

Question Number : 83 Question Id : 99836739508 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25

PrafifaT & & adt aoaw - Tad ge g AT FRE
Options:

1. % qg9-goa

o ® Ju-a9

3. % qq-+

4. ¥ -

Question Number : 83 Question Id : 99836739508 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Prafea i & FE1 700w - TaT g W AT
Options:

1. % J&8-34a

2. % Ju-a9

3. ¥ I9-g

4 & eata-gia

Question Number : 84 Question Id : 99836739509 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TaTT T 35 TH BT WET S T ST RIS
i anT

Options:

1. s wwEe (e i

2. ® armediiEeE

3. % gfediagehr

4 ® FrEmad

Question Number : 84 Question Id : 99836739509 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T T e 70 T &ET e 0 719 BT
arfearer

Options:

1. s EeEte (eft i

2. % anedifaer

3. % gitimge

4 * EI'IE\FT:EI"-‘It

Question Number : 85 Question Id : 99836739510 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Torr M7 T | SUgE iRl e w e

Options:
1. % 9, 97



2, ¥ T, T
3% AT, ey
4. % emH, IH

Question Number : 85 Question Id : 99836739510 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 86 Question Id : 99836739511 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 86 Question Id : 99836739511 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 87 Question Id : 99836739512 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Question Number : 87 Question Id : 99836739512 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 88 Question Id : 99836739513 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 88 Question Id : 99836739513 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 89 Question Id : 99836739514 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 89 Question Id : 99836739514 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 90 Question Id : 99836739515 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 90 Question Id : 99836739515 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 91 Question Id : 99836739516 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 92 Question Id : 99836739517 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 92 Question Id : 99836739517 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 94 Question Id : 99836739519 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 94 Question Id : 99836739519 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 95 Question Id : 99836739520 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 95 Question Id : 99836739520 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Id : 99836739521 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (96 to 100)
Juestion Label - Comprehension
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Sub questions

Question Number : 96 Question Id : 99836739522 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 97 Question Id : 99836739523 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 98 Question Id : 99836739524 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 99 Question Id : 99836739525 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 100 Question Id : 99836739526 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Id : 99836739521 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (96 to 100)
Juestion Label - Comprehension
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Sub questions

Question Number : 96 Question Id : 99836739522 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 97 Question Id : 99836739523 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 98 Question Id : 99836739524 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 99 Question Id : 99836739525 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 100 Question Id : 99836739526 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Revisit allowed for edit? : No
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Group Marks: 20
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Section Id :
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Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 9983672023
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 99836739527 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the f-:}ll-::-wing 15 NOT a general characteristic of an extrovert according to Carl Jung?

Options:

1. ¥ Inclined to worry

= % Interested in athletics
2. * Flexible and adaptable

4. % Likes to work with others

Question Number : 101 Question Id : 99836739527 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 102 Question Id : 99836739528 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following can be defined as the ability to raise many questions out of curiosity?

Options:

1. ® Criginality

= % Critical thinking
2. ¥ Inquisitiveness

4. % Elahboration

Question Number : 102 Question Id : 99836739528 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 103 Question Id : 99836739529 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

which of the following is NOT a sub-test of ‘Fassi test of creativity’ under testing techniques in assessment of
creativity?

Options:

1. ¥ Flexibility test

2. % Unusual uses test
2. # Elaboration test

4. % Consequerces test

Question Number : 103 Question 1d : 99836739529 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 104 Question Id : 99836739530 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following is NOT a non - standardised test or subjective method of assessing personality?

Options:

1. % Score Card
2. % Graphology
2. % Sociometry

4 * Anecdotal Records

Question Number : 104 Question Id : 99836739530 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 105 Question Id : 99836739531 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Wwhich of the following is NOT one of the twelve basic traits according to the “trait theory'?
Options:

1. #¥ Surgency

Z. % Parancis

3. # Boorishness

4. ¥ Insensitivity

Question Number : 105 Question Id : 99836739531 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 106 Question Id : 99836739532 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

which of the following is MNOT one of the four principles of Tdeation stage’ according to Erainstorming
technique?

Options:

1. ® Free whelming is emphasised
= % Criticism is avoided

3. # Hitchhiking is allowed

4. % Creative situations are developed

Question Number : 106 Question Id : 99836739532 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 107 Question Id : 99836739533 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

which of the following elements given by Carl Jung can be described as primitive in nature and is the reseryoir
from which all other systerms emerge?

Options:

1. ®# The conscious ego

Z % The personal unconscious
3. ¥ The collective uNconscious

4. % The urnconscious ego



Question Number : 107 Question Id : 99836739533 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 108 Question Id : 99836739534 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following staterments is/are associated with environment of the child in the womb of the mother?

I. The quality and quantity of nutrition received by the ermbryo within the wormb of the mother
II. Any darmage or accident to the baby in the wormnb
I1I. 5irgle child or multiple children getting nourished in the worrb

Options:

1. % Both [ and II

2. % Both II and III
2. % Both I and III
4. % 1 11 and III

Question Number : 108 Question Id : 99836739534 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 109 Question Id : 99836739535 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Cumulative Record Card can be categorized under which of the following types of methods of assessing
personality”

Options:

1. ¥ Non-standardised tests or subjective method
2. * Standardised tests or objective method

2. % Projective techniques

4. % Directive techniques



Question Number : 109 Question Id : 99836739535 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 110 Question Id : 99836739536 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In Indian education systerry, which of the following types of children are at risk for exclusion?

I. Children with disabilities
II. Girl child

Options:

1. % cnlyl

2 ® only I

3. ¥ Both I and 11
4. % Neither I nor II

Question Number : 110 Question Id : 99836739536 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 111 Question Id : 99836739537 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
i5 a set of actions of an individual.

Options:
1. # values

2 % Role
= % Status

4. % Norms

Question Number : 111 Question Id : 99836739537 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
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Question Number : 112 Question Id : 99836739538 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following are the major socializing agencies?

[. Community II. Family I[I1. Peer group IV, Forrmal educational institution
Options:

1. % 1,11 and III

2 %I I and IV

3% [ IIand IV

4 9111, 111 and IV

Question Number : 112 Question Id : 99836739538 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 113 Question Id : 99836739539 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the process of education and socialization, which of the following are transmitted to the students?

[. Social hierarchy
II. Inherent inequality
III. Social stratification

Options:

1. % landIl

2. % [TandIll
2. % JandIII
4 ¥ [ Il and III

Question Number : 113 Question 1d : 99836739539 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 114 Question Id : 99836739540 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich characteristics of community influence education?

I. Dernographics
II. Ocoupational patterns
IIT. Customs and traditions

Options:

1. ®* landIl

2. % [landIII
2 % JandIll

4. %1, 11 and III

Question Number : 114 Question Id : 99836739540 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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1. ST
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Options:

1. % I 7971l

2. % [l F9rlll
Z% [ F9TIll

4. 1, 11 q9r1Il

Question Number : 115 Question Id : 99836739541 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following is correct according to Right of Education act 20097

I. Schools can charge capitation fees
II. Schools can use screening procedure for admission

Options:

1. % Only I

2. % Only 11

2 % BothlandII
4. ¥ Neither I nor I



Question Number : 115 Question Id : 99836739541 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % Saal

o % e ll

3. % [ gurll 2=t

4 & AUET ATETII

Question Number : 116 Question Id ;: 99836739542 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Wwhich article of Indian Constitution states about taking care of educational interest of scheduled castes and
scheduled tribes?

Options:
1. % 5E
2 % 12
3% 23
4. ¥ 48

Question Number : 116 Question Id : 99836739542 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % &8

2. 0% 12

3% 23

4. ¥ 45

Question Number : 117 Question Id : 99836739543 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following statement is/are correct?

[. Negative analytic propositions are self contradictory
II. Megative synthetic propositions are not self contradictory

Options:

1. % Only I

z. % COnly 11

2. ¥ Both [ and 11
4. % DMNeither [ nor I1

Question Number : 117 Question Id : 99836739543 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % Saal

o % e ll

. o ] garll 2Ft
4 % qUETATEIII

Question Number : 118 Question Id ;: 99836739544 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following isare type(s) of curriculum?

. Subject Oriented
II. Competence based

Options:

1. % Cnly I

z. % only 11

2. ¥ Both [ and 11
4. % DMNeither [ nor [1

Question Number : 118 Question Id : 99836739544 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tt & & &1 a1/ & Ueaw &) % UE 287

I e s
Options:

1. % FFaal

o % Fadll

3. ¥ ] qETll 3t

4. % FTErIATEII

Question Number : 119 Question Id : 99836739545 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the fOllOW‘iI‘lg is correct about convictions of Eabindranath Tagore about education?

I. Medium of instruction must e English
II. Mature is richest source of knowledge
III. Creative activities must play a central role in education

Options:

1. ® landll

z ¥ [land Il
2. % JandIIl
4 % Only I



Question Number : 119 Question Id : 99836739545 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % [ q97ll

= ¥ 11 qer il
3% [ g9l
4 % el

Question Number : 120 Question Id : 99836739546 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following is true about education?

I. It should encourage individual to conform to society.
II. It encourages individual 1o be negatively harmonious with society,

Options:

1. % only 1

2 % only I

2. % BothlandII
4 % MNeither I nor [1

Question Number : 120 Question Id : 99836739546 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Discipline?

Group Number : 7

Group Id : 9983671227
Group Maximum Duration : 0

Group Minimum Duration : 0

Revisit allowed for view? : No

Revisit allowed for edit?: No

Break time: 0

Group Marks: 20

Revisit allowed for group Instructions? : Yes



Maximum Instruction Time: 0

Minimum Instruction Time: 0
Disciplines

Section Id : 9983671626

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section I1d: 9983672024
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 99836739547 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
To study a child we have to

[ watch him play.
II. study him in his different modes.

Options:

1. % Cnlyl

2 ® only I

3. ¥ Both [ and 11
4. % Neither I nor I

Question Number : 121 Question Id : 99836739547 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % ]

2 % Fadll

3 ¥ ] qETll 3t
4. % FUEr] ATEIII

Question Number : 122 Question Id : 99836739548 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The process of learning can be considered as

[. relatively permanent modification of behawviour
II. relatively permanent change in personality
I1I. acquisition of habits, knowledge and attitude necessary to meet the demands of life

Options:

1. % landll

2. % [landIIl
2 % [andIIl

4. %1, 11 and III

Question Number : 122 Question Id : 99836739548 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % [ qarll

2. % 11 qerlll

=% [ eIl

4 1, 11 F9rlll

Question Number : 123 Question Id : 99836739549 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

which irmitative behaviour is concerned with suppression of deviant behaviour of the model usually a5 a result
of seeing the model punished for engaging in the same behaviour?

Options:

1. % Modelling effect

= % Inhibitory effect

2. * Eliciting effect

4. % Dis-inhibitory effect

Question Number : 123 Question Id : 99836739549 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
B T SN AR, STHG I U HAT Ay o g ot g el #1 Sived gid §U e & TiRumaeaen sgd & w ¥E sage
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Tidawer & HariT 57
Options:

1. % st wam
2. ¥ GEATCHE T
3. % O e T
4 ® SEAACHE T



Question Number : 124 Question Id : 99836739550 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhat is the ultimate goal of learning process?

Options:

1. # Self-learning

o % Self-assessment

% % To be rich and successful

4. % Both self-learning and self-assessment

Question Number : 124 Question Id : 99836739550 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
STTEMTH WTeRaT T 3119 H 763 F24T 57
Options:
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Question Number : 125 Question Id : 99836739551 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
what type of questions asked by a teacher are convergent questions?

Options:

1. # Single correct answer question
2. % Multiple correct answer question
3. % Fixed correct answer question

4. % Both single and fixed correct answer question

Question Number : 125 Question Id : 99836739551 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % o 95T 39 9T 0y

= ® 3w 9ET IO O 0

3. % 10T IO 9w v

4. ¥ Uw gET o go T T O neg gt

Question Number : 126 Question Id : 99836739552 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The process of habituating the child to repeat and modify elicited and ernitted behaviour is called

Options:
1. ® nurturing

2. ¥ conditioning
3. ¥ stirmulism

4. # learning



Question Number : 126 Question Id : 99836739552 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % g
2. srgged
2 ® g
4 % ey

Question Number : 127 Question Id : 99836739553 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following assumption forms the basis of constructivist learning?

[ Knowledge is actively constructed by the student, not passively received from the environmert
II. Coming to know is a process of adaptation based on and constantly modified by student’s experience of the
wiorld

Options:

1. % Only ]

2. % Only 11

2. ¥ Both [ and II
4. % DINeither [ nor I1

Question Number : 127 Question Id : 99836739553 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. % el

o B Fgell
Z. ¥ [ gurll =t
4. % ATErIATEIII

Question Number : 128 Question Id : 99836739554 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If a teacher decides to adopt competency based approach, then what rmust she take care of?

I. Should use texts, media, other sources and real life materials geared to targeted competencies
II. Allow the students to progress through the instructional program at their own pace by demonstrating the
attainment of the specified competencies

Options:

1. % Only I

2. % Only 11

2 ¥ Bothland II



4. % Meither I nor I1

Question Number : 128 Question Id : 99836739554 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % FFaal

o % Fadll

3. ¥ ] qETll 3t
4, % JUErIATEIII

Question Number : 129 Question Id : 99836739555 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following is/are the characteristic(s) of lecture method?

[. The teacher instructs or gives lecture orl a topic in the whole period
I[I. Content is presented as a whole and the students learn through listening and mermorization

Options:

1. % Only I

2. % Only 11

2. ¥ EBoth [ andII
4. % IMNeither [ nor I1

Question Number : 129 Question Id : 99836739555 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % Al

2 ® Fadll

= ¥ 1 eIl At
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Question Number : 130 Question Id : 99836739556 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhat is/are the advantages of project method of teaching?

[. Interest and motivation for the project activities are spontaneously created and no external persuasion or
force is needed to attract the students towards learning.
I1. It helps the student in his/her preparation for a future life.

Options:
1. % Only I



2 ® Cnly I
2 % Both [ and 11

4 % Neither I ror 11

Question Number : 130 Question Id : 99836739556 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % FFaal

o % Fadll

3. ¥ ] qETll 3t
4. % FTErIATEII

Question Number : 131 Question Id : 99836739557 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

which type of intelligence according to the Gardener makes it possible for individuals to visualize, transform
and use spatial information?

Options:

1. * Linguistic

2. ¥ Visual spatial

2. % Logic mathematics
4. % Bodily kinassthetic

Question Number : 131 Question Id : 99836739557 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % ey
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Question Number : 132 Question Id : 99836739558 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In1 which approach to learning, teachers are also co-learners with the students?

Options:

1. % Learner centred approach

2. % Learning centred approach

2. % Cooperative learning approach

4. ® Collaborative learning approach



Question Number : 132 Question Id : 99836739558 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 133 Question Id : 99836739559 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following cooperative learning activities and models are used by teachers in classroorm?

[ Group investigations
II. Jigsaw
IIT. Student teams achieverment divisions

Options:

1. % landIl

2. % [landIll
2. % LandIII

4. %1, 11 and III

Question Number : 133 Question Id : 99836739559 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % 139rll

2. % I Tl
3. % [ Farlll
4. % [ 11 F9r Il

Question Number : 134 Question Id : 99836739560 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

______ refers to methodologies and environments in which learners engage in a corrunon task where each
individual finds out and is accountable to each other.

Options:

1. ¥ Collaborative learning
2. % Co-operative learning
3. # Learner centred learning

4. % Learning centred learning

Question Number : 134 Question 1d : 99836739560 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 135 Question Id ;: 99836739561 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

______ are "tight-ship” classrooms where the teacher maintains a high degree of structure, MANAZES routines
tightly and uses very few instructional strategies.

Options:

1. ¥ Crderly restrictive learning environment
= % Crderly enabling learning environment
3. % Adequate Classroor environmernt

4. % Dwysfunctional Classroor environmernt

Question Number : 135 Question Id : 99836739561 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 136 Question Id : 99836739562 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

______ is the amount of time students actually work on any assigned activity like working on writter
assigrunents.

Options:

1. ¥ Engaged time
2. % Classroom time
I ® Activity time

4 % Learning time

Question Number : 136 Question Id : 99836739562 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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3. % TRy JEg
4 ® aemE 9T

Question Number : 137 Question 1d : 99836739563 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Language car be considerad as

I. as a means of cormrmunication
II. a5 a pairing of grarmar and a dictionary
III. only as a knowledge to get a job

Options:

1. % Only I
2. % JlandIII
2. ¥ landlIl

4 % [ 1l and III

Question Number : 137 Question 1d : 99836739563 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT HTHT AT HFAT 21

1. T o a9 o '
11, STEeT 3T ey & ST & &= o
111, e et o o T Srae o o e

Options:

1. % el
2. % [ J9rlll
3.9 [ qarll

4 % [ 11 g9rlll

Question Number : 138 Question Id ;: 99836739564 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

We speak differently to different persons about one subject. Such as, we do not talk to our parents about what
happened in school, the same way as we speak to our friends. Which aspect of language play a part here?

Options:

1. % Psychological aspect
= ¥ Social aspect

3. % Structural aspect

4. % Environmental aspect

Question Number : 138 Question 1d : 99836739564 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T U Tl o &l H SIeTT— ST e & SET- SIe aTd Wi B S, Tl # AT g T 6 0T §H S0 AIaT- T & 9 aii §
EI'IH'F!EQFER_&% o T & §F S Zieal & =T T ) Wmaﬁﬁmmmwﬁfﬁaﬂﬁw@

Options:
1. % AT Tge
2. gHTHT UEd
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Question Number : 139 Question Id : 99836739565 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following statements support the positive attitude in society for diversity in language?

1. Maga people of same subgroup speak to each other in their mother torigue whereas they use Nagameez while
speaking to someone outside their cormrmunity.

II. People in Goa fighting over the existence of Marathi and Konkani.

III. Struggle between Marathi and Kannada in Belgaon.

Options:

1.9 Cnly I

2. % Only I

2. % Both II and III

4 % BothlandII

Question Number : 139 Question Id : 99836739565 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 140 Question Id : 99836739566 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Howr many steps are there in the process of counting?

Options:

1. * Three
2. % One

2. % Four

4. ¥ Two

Question Number : 140 Question Id : 99836739566 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tty ot i # Rpt =0T 21 27

Options:
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Discipline=
Group Number : 8
Group Id: 9983671228
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Disciplines
Section Id : 9983671627
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number : 1
Sub-Section 1d: 9983672025
Question Shuffling Allowed : Yes

Question Number : 141 Question Id ;: 99836739567 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

______ means utilization of available conditions and resources to the fullest extent which is never included in
the school mathermatics curriculurm.

Options:

1. * Estimation and approximation
2. % Representation

3. % Making connection

4. % COptirmization

Question Number : 141 Question Id : 99836739567 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 142 Question Id : 99836739568 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following statement defines Intuitive thinking?

[. Learning by experimenting with concrete materials, through experiencing ideas inl various corcrete ways
II. Beirig able to reason with ideas without needing concrete material

Options:

1. ¥ Cnly

2. % Only 11

2. % BothlandII
4. % NMNeither [ nor I1

Question Number : 142 Question 1d : 99836739568 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. v aa ]
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4 % qUETATEIII

Question Number : 143 Question Id : 99836739569 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Wwhich nature of mathematics deals with accuracy and exactness, and leaves rio sCope for doulbt and
ambiguity?

Options:

1. * Intrinsic Interest
2. % Logic

3. ¥ Precision

4 % Creativity

Question Number : 143 Question 1d : 99836739569 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 144 Question 1d : 99836739570 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich of the following ways of learning can a teacher facilitate in the classroom situations?

[. Manipulation of objects
II. Placing tasks in meaningful contexts
III. Representation in multiple ways

Options:

1. % [l andIII
2. % Only I
2 % [andIIl

4. %1, 11 and III

Question Number : 144 Question 1d : 99836739570 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % 11 q9rlll
2 ® dae 1
2% [ F9rTlll

4. %1, 11 gemlll

Question Number : 145 Question Id : 99836739571 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

which of the following isare the basic groups of mathematical concepts that are essential in all topics and
also included in mathernatics curriculum at the elermentary school leyel?

[ Murmber and operation on nurmbers
II. Spatial thinking

Options:

1. % Cnly I

2. % only II

3. ¥ Both I and 11
4. % DMNeither [ nor I1

Question Number : 145 Question Id : 99836739571 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 146 Question Id : 99836739572 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following, teaching-learning process in mathematics at the elementary level are not attractive?

. Ermnphasis on rote learning
II. Developrment of understanding, application and skill are ignored

Options:

1. % Only I

2. % Only 11

3. ¥ Both [ and 11

4. % Meither I nor I1

Question Number : 146 Question Id : 99836739572 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % ]

2 % Fadll

3 ¥ ] qETll 3t
4. % FUEr] ATEIII

Question Number : 147 Question Id : 99836739573 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
According to George Polya, how many kinds of aims are there in mathematics for school education?

Options:

1. * Three
2. % Four
2. % Five

4 % Two

Question Number : 147 Question Id : 99836739573 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. % d=
2% g
2 % g
4 ¥ 37

Question Number : 148 Question Id : 99836739574 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& problerm that is posed represents an outpost to be taken, a simple engagernent in our conguest of the
unknowrn.” Who said this statement?

Options:

1. % George Folya
2. ¥ I ] Fine

2. % Richard Skemp

4. % Jean Piaget

Question Number : 148 Question Id : 99836739574 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 149 Question Id : 99836739575 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The logic which uses knowr results, definitions and rules of inference to prove something is called

I. Deductive logic
II. Inductive logic

Options:

1. ¥ Cnly I

2. % Only 11

2. % Both[andII
4. % IMNeither [ nor I1

Question Number : 149 Question Id : 99836739575 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 150 Question Id : 99836739576 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘MNo error’.

It helped her (1) | to got rid of (2) | her superstitious belief (2) | MNo error (4)
Options:

1. % It helped her

2. ¥ to got rid of

3. % her superstitions belief

4 % Noerror

Question Number : 150 Question Id : 99836739576 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the givenl sentence that has an error in it. If there is no error, choose Mo error’.

It helped her (1) | to got rid of (2) | her superstitious belief (3) | No error (4)
Options:

1. # It helped her

2. ¥ to got rid of

3. % her superstitions belief

4. % No error

Question Number : 151 Question Id : 99836739577 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that 15 opposite in meaning to the given word.

Proficient
Options:

1. * akble

2. % fit

2. ¥ incompetent

4. ® cormpetent

Question Number : 151 Question Id : 99836739577 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that is opposite in meaning to the given word.

Froficient
Options:
1. # ahle
2 % fit



2. ¥ incompetent

4. % competent

Question Number : 152 Question Id : 99836739578 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that 15 opposite in meaning to the given word.

Erutal

Options:

1. % unwilling
2. % sorrow
2. ¥ hurmane

4 % rich

Question Number : 152 Question Id ;: 99836739578 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that 15 opposite in meaning to the given word.

Erutal
Options:

1. # unwalling
= % sorrow
2. ¥ hurmane

4. % rich

Question Number : 153 Question Id : 99836739579 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
_hoose the word that reans the same as the given word.

Active
Options:

1. # slothful
= % indolent
3. % lethargic
4. ¥ energetic

Question Number : 153 Question 1d : 99836739579 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that means the same as the given word.

Active
Options:
1. # slothful

2. % indolent
3. % lethargic
4. 9 energetic



Question Number : 154 Question Id : 99836739580 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that can substitute the given senternce.

ore whio belieyes in one God
Options:

1. * aristrocracy

2. * referendurm

3. % blaspheme

4 % monotheist

Question Number : 154 Question Id : 99836739580 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that can substitute the given sentence.

ore whio believes in one God
Options:

1. # aristrocracy

z % referendurn

3. # blaspheme

4 % monotheist

Question Number : 155 Question Id : 99836739581 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that can substitute the given sentence.

One who attends to the teeth
Options:

1. * oculist

2. % undertaker

3. ¥ dentist

4 * mercer

Question Number : 155 Question Id : 99836739581 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that can substitute the given senternce.

ore whio attends 1o the teeth
Options:

1. % oculist

2. % undertaker

2. ¥ dentist

4. % mercer

Question Number : 156 Question Id : 99836739582 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
In the following question, cut of the given four alternatives, select the alternative which best expresses the
meaning of the Idiom Phrase.

To be all ears

Options:

1. * transfer

2. % serve as contribution for
2. % escape punishrment

4 % to listen eagerly or curiously

Question Number : 156 Question Id : 99836739582 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, cut of the given four alternatives, select the alternative which best expresses the
meaning of the Idiom Phrase.

To ke all ears

Options:

1. * transfer

2. % serve as contribution for
2. % escape punishrment

4. % to listen eagerly or curiously

Question Number : 157 Question Id : 99836739583 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blarnk to be filled with an appropriate word. Choose the correct alternative.

& lot of people
Options:

1. * has

2. % was
3% s

4. % have

turned up for the show.

Question Number : 157 Question Id : 99836739583 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

& lot of people turned up for the show.
Options:

1. ®# has

2. % was

2% s

4 % hawve

Question Number : 158 Question Id : 99836739584 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



which of the following is the first stage of Kohlberg's six stages of moral developrment?
Options:

1. ¥ Chedience and Punishrment

2. # Good Interpersonal Relationships

2. % Social contract and Individual rights

g, ® Maintaining the social order

Question Number : 158 Question Id : 99836739584 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 159 Question Id : 99836739585 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

©One of the John B, Watson's major practical innovations was a method for deconditioning which of the
following™?

I[. Lowe

IT. Fear

Options:

1. % only 1

2+ Cnly 11

3. % BothlandlIl
4. % Neither I nor II

Question Number : 159 Question Id : 99836739585 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT &l AT & W eag e Aol § 8 g, faieiad § & e & 2t & e g et ot

[ O
II. =%

Options:

1. % aal

2 ¥ Fadll

3. % [ Farll 3Ft
4, % ATErIATEIII

Question Number : 160 Question Id : 99836739586 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Young children approach simple or difficult tasks both with the same unbridled enthusiasm. They act as if
they can remernber everything. In contermporary terms, they lack

[ metacreative awareness
II. metacogritive awarerness

Options:

1. % Cnly I

2. ¥ COnly 11

2 % BothlandII
4. % DMNeither [ nor I1

Question Number : 160 Question Id : 99836739586 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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2 o Fadll

3. % [ gurll gFt
4, % JUErIATEIII

T ST 21

Group Number :

Group Id:

Group Maximum Duration :
Group Minimum Duration :
Revisit allowed for view? :
Revisit allowed for edit? :
Break time:

Group Marks:

Revisit allowed for group Instructions? :
Maximum Instruction Time:
Minimum Instruction Time:

Section Id :

Section Number :

Section type:

Mandatory or Optional:

Number of Questions:

Number of Questionsto be attempted:
Section Marks:

Display Number Panel:

Group All Questions:

Sub-Section Number:

Discipline4

9
9983671229
0

0
No
No
0
20
Yes
0

0

Discipline
9983671628
1
Online
Mandatory
20
20
20
Yes
No



Sub-Section Id: 9983672026
Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 99836739587 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the f-:}ll-::-wing combination of Erikson’s General stage and age related to it 1S not correct?

Options:

1. ® Industry versus inferiority : Competence - 6 years to 11 years
= % Ego Integrity versus despair : Wisdorm - Old age

3. % Trust versus mistrust : Hope - Birth to 1 year

4. ¥ Initiative versus guilt : Purpose - Adulthood

Question Number : 161 Question Id : 99836739587 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 162 Question Id : 99836739588 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following is/are characteristicis) of EV57?

[. EV'S 15 & cormposite area

IT. EVS is contextual

ITII. EVS mostly concerns on theoretical ideas
IY. EV3 15 learner centered

Options:

1.¥ 1 Mand IV
2. % [ IIand IV
3% I I and IV

4. % [ 11, Il and IV

Question Number : 162 Question Id : 99836739588 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
191, 11 Jem IV

2. % 1, I JarIVv
3. % 11, 101 Jem v



4. % [ I, 111 Far 1y

Question Number : 163 Question Id : 99836739589 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following is/are example(s) of activities which helps in making an EVS class interesting?

I Indulging students in durrb charades

II. Asking the students to observe their surrounding and note the features of things associated with EVS
III. Asking the students to copy information in their notebooks after collecting inforrmation from their EVS
tenthoolks

IV, Asking students to indulge in drawing

Options:

1. % I, IIandIII

2 % IlandIV
2% LI and IV
4 % [ I, 11l and IV

Question Number : 163 Question Id : 99836739589 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % I, 11 99rlll

2 W I iy
2% 01 000 Jem IV
4 % [ II, II1 q9m IV

Question Number : 164 Question Id : 99836739590 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

which of the following statements is are correct regarding scope of teaching - learning EVS at primary stage
according to Mational Curriculurm Frameworl (MCF) 20057

I. Teaching - learning of EVS is visualised as including children’s interaction with real life situations through
actual engagement, reflections on day to day activities.

II. E¥S has to raise awareness and understanding of children about their environment.

III. EVS aims to expose student to the real-life world, natural and social, in which they live,

Options:
1.9 1,11 and III

2. % BothlandlIl
= # Both II and III
4 % onlyl

Question Number : 164 Question 1d : 99836739590 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1.9 1, 11 Tl

= % 1 Furll =+t
I % 11 Fem il gt
4 ® FaEdl

Question Number : 165 Question Id : 99836739591 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following is/are tools and techniques for assessing learning in EV5?

. Essay Tests

II. Performance Tests
III. Discussions

IV. Cuizzers

Options:

1. % I, IIandIII
2. % I, Il and [V
2% [ Ul and IV

4 % [ 11, [l and IV

Question Number : 165 Question Id : 99836739591 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % I, 11 99rlll
2. % I1, III Jem I
Z% I I qamIv

4 [ 11, 111 Far 1y

Question Number : 166 Question Id : 99836739592 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following are merits of Project method as a teaching - learning method of EVS?

[. The experience is real life based and hence lasts longer with the learners.
II. It is democratic and scientific in nature.
III. This method provides challenging vet encouraging learning envircrrmert.

Options:
1. % Both I and II



2. % Both II and III
3. % Both I and III
4. %1, 1l and III

Question Number : 166 Question Id : 99836739592 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % [ qarll 3=t

2. % 11 Furlll =+t
3. % [ FuTI 3=t
4, ¥ 1,11 3411l

Question Number : 167 Question Id : 99836739593 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following approach is based on letters and sounds?

Options:

1. ¥ Phonics

2. % Whole sentence reading
2. # Lookand say

4 % Language experience approach

Question Number : 167 Question Id : 99836739593 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 168 Question Id : 99836739594 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following can be the tools of the trade?

[ Paper dolls
II. Puppets
I1I. Picture cards

Options:

1. % Cnly 1
Z % IIand Il
3. % Cnly 11



4. % 1,11 and III

Question Number : 168 Question Id : 99836739594 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % aal

2. % 11 FETII
3 % Fadll

4 1, 11 FT1II

Question Number : 169 Question Id : 99836739595 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhat does NET stand for?

Options:

1. ¥ MNational Book Trust

2. % National Balance Trust
2. % MNon Balance Trust

4. % National Biography Trust

Question Number : 169 Question Id : 99836739595 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. & 9 o gEC

2. ® Ty defg Ten

3. ® g deig Tee

4, ¥ Jy=a FAUTHT TE

Question Number : 170 Question Id : 99836739596 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following staterments is/are true?

I. Language |content comes under cultural aspect.
I1. Global issues falls under psychological aspect.

Options:

1.+ Cnly

2 % only I

3. % Bothland Il
4. % Neither I nor I



Question Number : 170 Question Id : 99836739596 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. v Tl

2 % FaAll

3 % [ il AT
4 % FE ARTE

Question Number : 171 Question Id : 99836739597 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following is a way to improve storytelling skills?

[. Familiarise physically with the bools and illustrations.
II. Read the story well to know the content well and the meaning of any new words.

Options:

1. % Conly 1

o ® Cnly I

2. ¥ EBoth I and 11
4. % Neither I nor 1

Question Number : 171 Question Id : 99836739597 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
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Options:
1. % el

2. % Faell
3. ¥ [ qurll gt
4 % FEARTE

Question Number : 172 Question Id : 99836739598 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What areas are observed in listening while making an observation sheet”

Options:

1. ¥ Infers meaning

2. % How a student’s hands are kept while the story is read aloud.
2. * Pronounces intelligibly

4. % Usage of classroom language

Question Number : 172 Question 1d : 99836739598 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. anf ot |felT =T
2. % FEHET A G UG & S UF I3 FT 51T hel TFT AT 5

3. % FigETE SR AT
4 % Ty T ATHT W U

Question Number : 173 Question Id : 99836739599 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What are the warious tasks that listeners commplete while listeriung?

[. Listen and perform actions
II. Listen and draw jcolour

Options:

1. % Only1

2. % Only 1

3. % Both I and 11
4. % Neither I nor I

Question Number : 173 Question Id : 99836739599 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ST Wl FH ST R | g ® g @ g7

I GEAN T T
Il.ﬁgﬁr T o e | T g

Options:

1. % Faal

2. % Fadll

3 ¥ ] gl gFt

4 % FEARATEI

Question Number : 174 Question Id : 99836739600 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhat does ‘Reading a clock face to tell the time’ mean?

Options:

1. # Learning to recognise words and match words that rhyme

2. ® Learning to recognise the written form of words and their meaning
2. ¥ Reinforcing mathematical concepts of telling the time

4 #® Feading sentences aloud using the appropriate stress and notation

Question Number : 174 Question Id : 99836739600 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
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Options:

1. % gl @ Ug===T Qa1 T2 AT Tog haa] Bld & F1 Hel T



2, % seal o oiET &0 & 399 2] &1 U= gigar
3. U AT @ I 1 STereRTef ®i i & @ #r
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Question Number : 175 Question Id : 99836739601 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Groups of learnirlg strategies that are more task—specific are Called

Options:
1. % Metacognitive

= ¥ Cognitive
3. ¥ Positive attitude
4. % Drafting

Question Number : 175 Question Id : 99836739601 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ot 3t o o s TR ¥ wamgtar T T 3

Options:

1. ¥ Femmneiee

2. ¢ HAFERE

3. ¥ mEwcHE AT
4. ® TeRET (BTG

Question Number : 176 Question Id : 99836739602 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following is a role that a teacher has to play?

I. Behawvioural role
II. Procedural role

Options:

1. % Cnlyl

2 ® only I

3. ¥ Both [ and 11
4. % Neither I nor I

Question Number : 176 Question Id : 99836739602 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % ]

2 % Fadll

3 ¥ ] qETll 3t

4 % FE ARATE



Question Number : 177 Question Id : 99836739603 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following is a visual support?

I. Puppets
II. Flashcards and games

Options:

1. % Only1

2. % Only 1

= ¥ Both1and II
4. % Neither I nor II

Question Number : 177 Question Id ;: 99836739603 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. % Faal

= % FEeil
= & 1 TuTll =t
4 % FE ARTEI

Question Number : 178 Question Id : 99836739604 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
what do you mean by authoring programnumes?

Options:

1. % A programme that allows the teacher to create his fher own exercise

2. % Allows pupils to practice their writing skills and take pride in the presentation of their work
Z. ® Toresearch topics for project work arising out of story-based lessons

4 # Enwvironment where all children are welcome, and help each other etc,

Question Number : 178 Question 1d : 99836739604 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
eI WITITA & ST 2T T 27

Options:
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Question Number : 179 Question Id : 99836739605 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



‘Explain the purpose of the task’ comes under which stage of productive computer session?
Options:

1.9 Stage 1

= % Stage 2

3. % Stage 3

4. % Stage 4

Question Number : 179 Question Id : 99836739605 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. ¥l
2 % mm2
3. % T3
4. # T 4

Question Number : 180 Question Id : 99836739606 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which skill is focused in ‘sorting’?

Options:

1. ¥ Listening

Z. % Drawing

3. % Singing

4. ¥ Developing vocabulary

Question Number : 180 Question Id : 99836739606 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % s d-T

2 % REwnr

3 %® TmEH
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Disciplines
Group Number : 10
Group Id: 9983671230
Group Maximum Duration : 0
Group Minimum Duration : 120
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes

Maximum Instruction Time:

0



Minimum Instruction Time: 0

Disciplines
Section Id : 9983671629
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 9983672027
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 99836739607 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of these activities is used with drawings?

Options:

1. # Listen and guess
2. ¥ Listen and label
% % Listen and repeat

4. % Listen and predict

Question Number : 181 Question Id : 99836739607 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Traimrad # & e o are Tore midiater @ Ju=i fram =T &7

Options:

1. % @1 & argaT Fmat
2. & it ofi Aae

3. % gt o Sl

4 % AT 9T Wirait #r

Question Number : 182 Question Id : 99836739608 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

which of the following learning objectivels) can be included in the lesson plan prepared for teaching ‘Diversity
and unity in India’ at class V1 level?

Options:

1. # Chart for the development of early civilizations in the context of their cultural diversity
2. % Explain the nature of social science in learning about world history

2. % Find out the location of diversity features in Indian socio-cultural map

4. % Justify how diversity in the world influence the culture and identity of people



Question Number : 182 Question Id : 99836739608 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. ® wregide ST & ded # o e avadre & Tee & oy aw

2. % g eidEm o ant # A o 1o STAT T @ v ST
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Question Number : 183 Question Id : 99836739609 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

which of the following is an effective activity while teaching political science through the strategy of role play
in a class?

Options:
1. ¥ Azking the students to prepare a play based on any current political issue

= ¥ asking the students to play the role of a Panchayat President who is addressing the members of Gram
Sabha

3. % Asking the students to write a play based on the topics of political science

4. % asking the students to watch a dramatized play based on politics

Question Number : 183 Question Id : 99836739609 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 184 Question Id : 99836739610 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following isare approachies) adopted by social scientists in understanding sociology?

I. Comparative Approach
II. Functionalist Approach
I1I. Historical Approach
V. Statistical Approach

Options:

1. % [, Il and III

2 %I 1 and IV
3 % I and IV
4 1,11, 11l and IV

Question Number : 184 Question Id : 99836739610 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
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[ Fe-TcHS JUTTH
1. UeTiaTer JuTTTe

I11. UidETE Summ™
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Options:

1. % LI J4rllI

2. % ILII qar IV
2% LI J9rIv
4. % LI Ty

Question Number : 185 Question Id : 99836739611 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following work(s) of students can be taken into account for portfolio assessment?

I. List of story books read by the child
II. Zollection of leaves, textiles atc.
III. Samples of child's self assessment sheets

Options:

1. % Only I

2. % Only 11

2. % Both [ and III
4 ¥ 1 11 and III

Question Number : 185 Question Id : 99836739611 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % aal

o % Fadll

3. % ] FeTll et

4, ¥ 1, 11 FT1II

Question Number : 186 Question Id : 99836739612 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following is NOT a type of model as a learning resource in social science?

Options:

1. % Working model
2. % Sectional rmodel
2. ¥ Physical model

4. # Simple model



Question Number : 186 Question Id : 99836739612 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. % FidoT amest

2 % arpanier amgd
3. ¢ afffdw amgdf

4 ® e amast

Question Number : 187 Question Id : 99836739613 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In a mixture of 50 litres, milk and water are in the ratio of 4 1 respectively. How rmach more milk should e
added in the mixture 50 that the ratio of milk and water will become 9 1 respectively?

Options:

1. % g litres
2. % 40 litres
3. ¥ 50 litres
4. % 70 litres

Question Number : 187 Question Id : 99836739613 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. ¥ 5y

2. % 40 #lew

= 50 et

4. % 70 &R

Question Number : 188 Question Id : 99836739614 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Cost price of 2 pens and 4 books is Bs. 95, Cost price of & pens and 2 books is Rs. 65, What is the cost price of
orie book?

Options:

1. % REs 15
2 % Rs 25
2. % Rs 10
4 ¥ Rs. 20

Question Number : 188 Question 1d : 99836739614 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. % 15 &

= % o5 wr



3 % 10w
4 & 20w

Question Number : 189 Question Id : 99836739615 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Highest cormrmon factor of two rmutually prime numbers is ______.
Options:

1. ¥ their product

2. %0

3.¢ 1

4. ® their sum

Question Number : 189 Question Id : 99836739615 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % T 0HA
2 %0

3. v 1

4, % gamram

Question Number : 190 Question Id : 99836739616 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following statements is/are not correct?

Options:

1. # 4 quadrilateral with all sides of equal length and all angles right angles is called square
2. % 4 quadrilateral with all 4 sides of equal length is called rhormbus

3. % 4 quadrilateral with all 4 angles to be right angles is a rectangle

4. ¥ & parallelogram with one angle right angle cannot be said as a rectangle

Question Number : 190 Question Id : 99836739616 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 191 Question Id : 99836739617 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

orne solar day is equal to how many hours?
Options:

1. ¥ 24



2. % 18
3. % 22
4. % 20

Question Number : 191 Question Id : 99836739617 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e Hle Ta frd T wiet @ siTer 51aT 27
Options:
1.9 24
= % 18
3. % 22
4 % z0

Question Number : 192 Question 1d : 99836739618 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& syrmbol having a fixed numerical value is called a

Options:
1. # ¥Variakle

2. % Constant
3. % Theorem

4. # Expression

Question Number : 192 Question Id : 99836739618 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 193 Question 1d : 99836739619 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
______ is the activity of breaking an observation or theory dowr into simpler concepts in order to understand it.

Options:

1. % evolution
2. ¥ analysis

3. % Creationism

4 % reductionism

Question Number : 193 Question Id : 99836739619 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:



1. % e
2. o Taregmm
3. % qigarg
4. % FEiidaes

Question Number : 194 Question Id : 99836739620 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following condition rmust be satisfied by a hypothesis in order to be scientific?

I. It should be consistent with the evidence.
II. It should be testable by supporting it with relevant data.

Options:

1. % Cnly I

2 % only I

2. ¥ EBoth I and 11
4. % NMNeither [ nor I1

Question Number : 194 Question Id : 99836739620 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % Saal

o % e ll

. o ] garll 2Ft
4 % qUETATEIII

Question Number : 195 Question Id : 99836739621 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

______ is a type of teaching that encourages students to take a more active role in their learning process by
answering a series of questions or solving problems designed to introduce a general concept.

Options:

1. * Expository approach
2. % Discovery approach
2. ¥ Inquiry approach

4 % Lecture method

Question Number : 195 Question Id : 99836739621 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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3. ¥ qETE e
4. ¥ I ugia

Question Number : 196 Question Id : 99836739622 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

which of the following statements regarding fair testing investigation method used by a teacher in science
Classrocl is fare corract?

I. They are concerned with observing and exploring relations between variables.
II. The emphasis is on pupils to identify one (or more) independent variable(s) to be manipulated
independently of other factors.

Options:

1. % Only I

2. % Only 11

2. ¥ Both [ and II
4. % DMNeither [ nor I1

Question Number : 196 Question Id : 99836739622 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. % el

2. % Faell
3. ¥ [ qurll gt
4 % JTETIATEII

Question Number : 197 Question Id : 99836739623 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following staterments regarding lesson plan developed by a teacher is/are correct?

I It reflects interests and heads of students.
II. It correlates with the teacher's philosophy of education.

Options:

1. % Only I

2. % Only 11

3 ¥ Bothland Il

4. % MNeither I nor II

Question Number : 197 Question Id : 99836739623 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:



1. % ]
2 % Fadll
3 ¥ ] qETll 3t
4. % FUEr] ATEIII

Question Number : 198 Question Id : 99836739624 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

which of the following assessment methods can be used to obtain a balanced picture of the child’s progress in
SCience?

I. Teacher observation
II. Zoncept mapping
III. Performance on teacher-designed tasks

Options:

1. % Both [ and II

2. % Both II and III
2. % Both I and III

4. %1, 11 and III

Question Number : 198 Question 1d : 99836739624 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Wwhich of the following isfare correct about term "special educational needs™

. Solely pertains to children with disabilities
II. For childrens with individual educational need

Options:

1. % Cnly I

2. ¥ COnly 11

2 % BothlandII
4. % DMNeither [ nor [1
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[nclusion means the process of

Options:

1. ¥ educating children with SEN alongside their peers in mainstream schools
2. % educating children with SEN in mainstream schools but in different classes
3. % sducating children with SEN in special schools with different curriculurm

4. % educating children with SEN with same curriculum in special schools
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